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Coral reefs support colonies of sea life and are among the most colorful things on
Earth. While they take up less space than half the area of France, they are home to
twenty-five percent of all sea creatures. It’s no wonder they are called “rainforests of
the sea.” Strangely, coral reefs do better in areas with fewer nutrients. Instead, they
depend on sunlight and the right water temperature to grow. Due to this, they are
easily damaged. Currently, climate change and pollution are having severe impact on
them. About sixty percent of the world’s reefs are at risk of dying.

1. What is the main idea of the passage?
(a) Many animals feed on coral reefs.
(b) Coral reefs are important but in danger.
(c) The conservation of coral reefs is going on well.
(d) Pollution and coral reefs are related.
2. Why are coral reefs called “rainforests of the sea”?
(a) They are an attractive spot for tourists.
(b) They are colorful but cold.
(c) They are easily damaged.
(d) They contain a rich variety of life.
3. What is not said about coral reefs?
(a) They need an environment with a rich food supply.
(b) They are sensitive to water temperature changes.
(c) A great number of them may die.
(d) Their habitats make up a small part of the ocean.
4. According to the passage, what do coral reefs need?
(@) climate change
(b) pollution
(c) deep water
(d) sun

Human evolution has helped us in many ways, but the process hasn’t been
smooth. Long ago, we walked on four legs. Now, we use two. Our back is still
designed for four legs, though, and walking with two legs has bent our back into an
S-shape. This means it’s not as strong and can cause the back problems that so many

people have today. Humans also used to have fur. When we began living together in
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larger groups, this hair made it easier for bugs to give us diseases. Thus, evolution
helped us to lose the fur. We still have hair today, but it doesn’t really have the same
purpose.
5. According to this passage, we have back pain because .

(@) our lifestyle is not healthy

(b) our back isn’t strong enough

(c) we get hurt when exercising

(d) walking with two legs causes some problems in blood circulation
6. What is true about our hair today?

(@) It keeps off bugs.

(b) It gives us diseases.

(c) It evolved from fur.

(d) It works as the same way as fur.
7. What is not mentioned in the passage?

(a) People have back problems today.

(b) Human lived together in big groups.

(c) Human can pass diseases to bugs.

(d) People had fur at one point in time.

Biofuels are fuels that burn cleanly, are renewable, and can be produced locally.
They may sound like a fantasy, but they are available and already in use. These fuels
are made from different agricultural products such as corn, wheat, sugarcane, and
palm oil. They are renewable, meaning that a new supply can be produced with each
harvest. In addition, wastes such as fats and cooking oils from restaurants can be
collected and recycled into a biofuel instead of being thrown out to pollute the
environment. Crops that can be used for biofuels are very profitable for farmers.
During poor growing seasons, when farmers are only able to produce low-quality
crops, biofuels will sell, but food crops won’t.

8. How does biofuels help farmers?
(a) They can be used to fuel farm equipment.
(b) The offer new jobs to poor farmers.
(c) They create materials that can be used to grow crops.
(d) They help farmers make more money.
9. How are biofuels good for the environment?
(a) The materials used to make them can be renewed.
(b) Little land is required to produce them.
(c) They use vegetables from restaurants.

(d) They can be used to help crops grow.
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10. Why are biofuel crops easier for farmers to sell?
(a) They don’t have to be of high quality.
(b) They taste better.
(c) They grow faster, so more can be sold in one year.
(d) They are easier to ship.

Z &P (30 &0 =883 &)

Earthquakes 11  all the time in the world. Most of them are small, so we
usually don’t notice them. 12, when they’re big, they can be dangerous and cause
a lot of damage. Scientists are still trying to understand more about earthquakes. For
now, nobody isableto _ 13 them. 14 | the best way to protect yourself is to
prepare.

11. (a) happened (b) happening (c) was happened (d) are happening

12. (a) However (b) So (c) As aresult (d) In addition
13. (a) manage (b) predict (c) convince (d) trust
14. (a) Meanwhile (b) Nevertheless  (c) Therefore (d) More than ever

Cameras are wonderful for capturing life’s important moments. Today, most
people use digital cameras. They’re 15  because they don’t need film. They also
allow you to see the picture after you take it. There are two kinds of digital cameras:
point-and-shoot and DSLR. Point-and-shoot cameras are small, light, and easy
__ 16 use. DSLR cameras are bigger and heavier; however, they are able to do a lot
more. 17, they can capture clear shots of moving objects.

15. (a) convenient  (b) considerate (c) concerned (d) confident
16. (a) for (b) with (c)to (d) by
17. (@) Tosumup (b) For instance (c) On the contrary  (d) With no doubt

There has long been a gap between sciences and humanities at universities around
the world. But a few academics are trying to 18  the gap to bring the two together.
At Binghamton University in New York, Dr. David Wilsonis 19 a new program
called the New Humanities Initiative. _ 20 on evolutionary biology, the program
aims to combine the scientific study with the study of history and literature.

18. (a) follow (b) build (c) mold (d) bridge
19. (a) headingup (b) holding on (c) moving on (d) catching up with
20 (a) Focused (b) Focusing (c) To focus (d) Having focused
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Translate the following underlined sentences (21-22) into Chinese.

21. One of the greatest challenges for any distance runner is the annual World
Cross-Country Championships. This race of about 12 km, held over rough
terrain, attracts runners specializing in distances from the mile all the way to
the marathons. Kenyans dominate. Their team often sweeps the top few spots.
Paul Tergat won the race himself five times in a row from 1995 to 1999.

22. Table tennis may seem like a simple game—a game for kids to play in the
basement. But when two elite players face off, there is no mistaking table tennis
for a mere game. The best players have lightning-fast reflexes. They dart about
the table and hit the ball so fast that spectators can barely keep track of it.

Translate the following (23-24) into English.
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Please write an English composition on the following topic. The length should be 150
to 200 words.

Topic: How do you look at the Linsanity phenomenon?
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11.d 12.a 13.b 14.c 15.a

16.c 17.b 18.d 19.a 20.b
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a. inertia

b. eccentric contraction

c. anthropometric

d. third-class lever

e biomechanics
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Rearfoot striker  -—====--- Midfoot striker
7Lt T3 Hall, S. J. (2007). Basic biomechanics (5th, p. 390). New York:
McGraw Hill.
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